
1) 'What is the probability of rolling a 
number less than 2.when rolling a dice

Answer: ____________

2)
33  Find Volume of 
                         Hexagonal Pyramid 

31
31

Answer: ____________

3)

A = 36  B
Find the Angle at side B.

Answer: ____________

4) 40/
16 ÷ 18

/14

Answer: ____________

5)
38  Find Volume of 
               37       Cylinder 

Answer: ____________

6) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

7) A number is chosen at random from 1 
to 75. Find the probability of selecting 
number less than 17.

Answer: ____________

8) A number is chosen at random from 1 
to 75. Find the probability of selecting 
number less than 17.

Answer: ____________

9)

A B = 46
Find the Angle at side A.

Answer: ____________

10) Simplify 83:74

Answer: ____________

11) A number is chosen at random from 
1 to 75. Find the probability of 
selecting even number.

Answer: ____________

12)

'Name the type of angle.

Answer: ____________

13)

'Name the type of angle.

Answer: ____________

14) An amount was decreased by 5.8% to 
$462.00. Find the original amount.

Answer: ____________

15)
40  Find Volume of 
               40       Cylinder 

Answer: ____________
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16) Share 90 in the ratio 16:14

Answer: ____________

17) b

a o c
Measure angle boc 

Answer: ____________

18) Find area of triangle
h = 4389 m, a = 
5063 m,
b = 6297 m, c = 
6864 m

Answer: ____________

19)
39  Find Volume of 
               36       Cylinder 

Answer: ____________

20)
34  Find Volume of 
               33       Cylinder 

Answer: ____________

21) Find the percentage change from 329 
to 197.4

Answer: ____________

22) A number is chosen at random from 
1 to 75. Find the probability of 
selecting factors of 19.

Answer: ____________

23)
35

Volume of Cone 
35

Answer: ____________

24) Find area of 
triangle 
a = 7855 cm, b = 
8915 cm

Answer: ____________

25) Find the percentage change from 370 
to 159.1

Answer: ____________

26)
40  Find Volume of Cone 

39

Answer: ____________

27) Find the percentage change from 
132.5 to 371

Answer: ____________

28)
36  Find Volume of 
               32       Cylinder 

Answer: ____________

29) 13/
18 ÷ 32

/10

Answer: ____________

30) Decrease 118 by 1/59

Answer: ____________
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31) b

a o c
Measure angle boc 

Answer: ____________

32) b

a o c
Measure angle boc 

Answer: ____________

33)

'Name the type of angle.

Answer: ____________

34) An amount was increased by 8.8% to 
$427.00. Find the original amount.

Answer: ____________

35) 36/
3 ÷ 36

/16

Answer: ____________

36)
35  Find Volume of 
                         Square Pyramid 

34
34

Answer: ____________

37)

'Name the type of angle.

Answer: ____________

38) Find the percentage change from 105 
to 189

Answer: ____________

39) Find the percentage change from 105 
to 189

Answer: ____________

40)

A = 25  B
Find the Angle at side B.

Answer: ____________

41) Find the percentage change from 
337.5 to 189

Answer: ____________

42) Find area of 
triangle 
a = 8525 m, b = 
8829 m

Answer: ____________

43) Share 76 in the ratio 21:55

Answer: ____________

44)

A B = 25
Find the Angle at side A.

Answer: ____________

45)

A B = 45
Find the Angle at side A.

Answer: ____________
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46) 'What is the probability of rolling a 
number less than 6.when rolling a 
dice

Answer: ____________

47) A number is chosen at random from 
1 to 75. Find the probability of 
selecting multiples of 18.

Answer: ____________

48)

A B = 66
Find the Angle at side A.

Answer: ____________

49) Share 90 in the ratio 87:3

Answer: ____________

50) Find area of triangle
h = 4690 in, a = 
4806 in,
b = 7129 in, c = 
9243 in

Answer: ____________

Total: ___ / 50
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Answers:

1) 1/6 2) 27464.263630216 3) 144 4) 117/18 5) 40857.983256262 6) 1/6 7) 16/75

8) 16/75 9) 134 10) 83 : 74 11) 37/75 12) Obtuse 13) Obtuse 14) $435.20

15) 201061.92982975 16) 3 : 87 17) 124 18) 13818766.5m 19) 158788.65908304 20) 29080.152397954 21) -40%

22) 0/1 23) 44898.595007554 24) 26717327.544769cm 25) -57% 26) 15927.8747537 27) 180% 28) 115811.67158193

29) 65/288 30) 116 31) 57 32) 57 33) Right 34) $392.46 35) 51/3

36) 13486.666666667 37) Obtuse 38) 80% 39) 80% 40) 155 41) -44% 42) 31469468.742956m

43) 1 : 75 44) 155 45) 135 46) 5/6 47) 4/75 48) 114 49) 1 : 89

50) 16717505in
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